European
Spare Parts

Level 1&2 Authorized

Go to next page

Item Motorola Item Motorola

No. Part No. Description No. Part No. Description

- 10171718D01 Flip Front Housing Assy Licorice 14 |3871472D01 Keypad English Licorice

- 10171718D05 Flip Front Housing Assy Dark Navy 14 13871472D14 Keypad English Dark Navy

- 10171718D02 Flip Front Housing Assy Dark Navy VF 14 |3871472D02 Keypad English Dark Navy Vodafone

1 [1571788C01 Flip Cover Licorice 15 |1571782C01 Front Housing Assy Licorice

1 |1571788C06 Flip Cover Dark Navy 15 |1571782C02 Front Housing Assy Dark Navy

1 |1571788C02 Flip Cover Dark Navy Vodafone 16 | “0171160E03 I—'Keyboard Flex Assy

2 |0387726M18  |Screw M1.6x2.5mm - | Bos71777001 | S Grommet USB Licorice

3 [0171256E01 Bracket MPXL Camera - L 0571777c02 | > Grommet USB Dark Navy

4 [7271830E01 CLI Display 17 |2271837D01 Pin Lanyard

5 10171841D01 Flip PCB 18 |3771478D02 Socket Flex Assy

6 |—'947‘I292D06 L Mpxl Camera 19 [0171831D01 Rear Endo Assy Licorice

- | Loa71680E04 [ L vGA Camera 19 |0171831D02  |Rear Endo Assy Dark Navy

7 | Bo171120E02 | L vibrator 20 ]0387473K08 Screw M1.6x4.2mm (Rear Endo)

- |[1171200E01 Adhesive Flip PCB #1 21 |5571453D03 Hinge

- |1171817D02 Adhesive Flip PCB #2 - |0371841E01 Screw M1.2x2.8mm (Hinge)

8 |7271830D01 Main Display 22 [1571882C01 Socket Hinge

9 0571883D01 Grommet VGA Camera 23 |0171833D01 Antenna Assy

10 |3871815C02 Button Volume 24 |1571785C01 Rear Housing Assy Licorice

11 ]1571791C01 Flip Housing Licorice 24 |1571785C02 Rear Housing Assy Dark Navy
11 [1571791C02 Flip Housing Dark Navy - L 5088317Y01 I—'Alert Speaker

12 13871816C02 Button Camera 25 ]0387473K08 Screw M1.6x4.2mm (Rear Housing)
13 [6171021F03 Lens Main Display Licorice - 10571850D01 RF Grommet Licorice

13 [6171021F01 Lens Main Display Dark Navy - 10571850D02 RF Grommet Dark Navy

13 |6171021F05 Lens Main Display Dark Navy Vodafone - |5471446D01 Insulator Tape

- |SNN5789B Battery
- |SHN9556A Battery Door Licorice
SHNOO035A Battery Door Dark Navy

= part of assembly

E Adobe™
'\‘.Ger REﬂd.ﬂl"

REVISIONS

2006.10.16

Level 1-2 Parts List Version 1.0

Product Name: | Vo6

| Page 1 of 2



http://www.adobe.com/products/acrobat/readstep2.html

Level 1&2 Authorized

Level 1-2 Parts List
Components
Ref Part # Description Comments
ANTOO1 3987977Y01 ANTENNA CONNECTOR
ANTO002 3987977Y02 CONNECTOR UNIVERSAL
J2300 0971726C03 CONNECTOR FLEX ASSY
J5000 0988486Y01 USB CONNECTOR
J5400 3970350F01 CONNECTOR BATTERY
J5801 3971730C02 CONNECTOR TRANS FLASH
MO001 0988612M01 CONNECTOR RF
MO002 0988612M01 CONNECTOR RF
M2300 M4001 3987402Y03 CONTACT SPEAKER LEVELING
M4000 3987402Y02 CONNECTOR SPEAKER 1 CONTACT
M5500 3989888N01 CONNECTOR SIM
MK1 5089874N01 MICROPHONE
AN e
European
Spare Parts REVISIONS

2006.10.16

Level 1-2 Parts List

Version 1.0

Product Name:

Vo6

Page 2 of 2



http://www.adobe.com/products/acrobat/readstep2.html



